Length of Long Objects
1 2 - 1 Units of Length

. J

<»Instruction A girl's arm span is exactly 4 ruler lengths
long using a 30 cm ruler. How long is her arm
span?

| T T | T T | T T T T |
30 cm 30 cm 30 cm 30 cm

Arm span

A metre is another unit

| —
ﬁUh | ﬁ ' 50 / of length. | m = |00 cm S

CM [20cmis | m 20 cm. ) W——

centimeters?

%% —»[3FmnJE How long is the piece of tape in meters and %%

IO% cm

How long is the piece of tape in meters and centimeters?

cm

9

cm
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Length of Long Objects
1 2 . 2 Addition of Lengths

<»EEnB 1 Fill in the blanks.
@ 'm=]100lcm @& 150cm=| | |m SOﬁm

=»[FErmdB 2 Calculate the following lengths in meters and
centimeters.

[ |
(1) 21m500m+!m|Ocm 3 |m| 60 |cm
'm=100em . ﬁ y Calc-ulate the meters and the
— oo/ centimeters separately.
€@ 60cm + 70cm | |m]| 30" cm

I_I—I Fill in the blanks.
) 400cm = m € "Tm-= cm

e 350 cm = m cm

G 105cm = m cm

|_2_I Calculate the following lengths in meters and centimeters.
o 3m+2m = m

G 2m30cm + I'm = m cm

e 4m 10cm + 50 cm = m cm

G Im20cm + 2m50cm = m cm

6 | m30cm + 90 cm = m cm
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[ Length of Long Objects
\1 2 . 3 Subtraction of Lengths

=»[FEmdE Calculate the following lengths in meters and
centimeters.

@ 3m-1Im = 2 |m
Q ZILmQIOcm— !mIIOcm = 3 |m| 10 |cm
€& 2m-50cm = | | |m|50"cm

Calculate the following lengths in meters and centimeters.

%% 0 5m—2m — m
6 3m30cm — Im = m cm
9 4m 70 cm — 20 cm — m cm
G Im20cm — [5¢cm = m cm
9 5mb0cm —2m|0cm = m cm
0 2m4dbcem — Imildem = m cm
0 2m40cm — Im25cm = m cm
€¢) I0m50cm—2ml0cm = m cm
0 5m20cm —2mb50cm = m cm
@ 7Tm30cm— Im35cm = m cm
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%% 9 The width of the blackboard is 6 cm longer than 2 m.

64‘,m

Y

Length

»
gl

o The length of the blackboard is 20 cm longer than 3 m.

3

m

20

2

m

cm

Calculate the dimensions of a container.

0 The length of the container is |0 cm longer than 2 m.

m

cm

Q The width of the container is 15 cm longer than | m.

m

cm

e The height of the container is 3 cm longer than | m.
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Length of Long Objects
1 2 =25 Calculation of Lengths (2)
<= [3EnJE Calculate the dimensions of a bus.

i Length and Width,
) i | the longer one is
| - 5

o i called length.
Length Width
0 The length of the bus is 20 cm shorter than 7 m.

6 m| 80 |[cm

9 The width of the bus is 25 cm shorter than 2 m.

| Im| 75 |cm

%% 0 The height of the bus is 6 cm shorter than 3 m.
‘.

2 |m| 94

Calculate the dimensions of a desk.

o The length of the desk is |10 cm shorter than 3 m.

m cm

9 The width of the desk is |5 cm shorter than 2 m.

m cm

e The height of the desk is 3 cm shorter than | m.

cm

136

W JICA_24F_ZF5_P132-143. indd 136 $ 2022/02/25 14:43:47(




[1 2 6 Length of Long Objects

Review

|

I_1_' How long is the piece of tape in meters and centimeters?

cm
0 200cm = m 9 6m = cm

9 450 cm = m cm

G 107 cm = m cm

|_3_I Calculate the following lengths in meters and centimeters. %%
o lm+ 3m = m

@ 6midcm+ 7m a m cm
94m800m+|m500m= m cm

Ll._' Calculate the following lengths in meters and centimeters.

@ 7m-3m

G 2m30cm — 20 cm
€ 4m60cm — I m20cm
@ 2m20cm — 40cm

6 3m20cm — 85cm

— m

= m
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